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2nd Semester Examination

ECONOMICS (Honours)
Paper - GE2T
Introductory Macroeconomics

Full Marks : 60 Time : 3 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group - A
Answer any fen questions. 10x2
1. (a) Distinguish between GDP and GNP
(b) Differentiate between real and nominal GDP.
(c) What are the functions of money ?

(d) What dre the determinants of money supply ?
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(e) Define bank rate ?

() What is neutrality of money ?

(g) Define hyperinflation.

(h) Distinguish between current and capital accounts.
() What is LM curve ?

() What is repo rate ?

(k) What is liquidity trap ?

() State the Say’s Law ?

(m) What are the differences between WPI and
CP1?

(n) What do you mean by Classical Dichotomy ?
(o) What is speculative demand for money ?
Group - B
Answer any four questions. 4x5
- 2. ‘Balance of payment is always balanced’ -— Explain.

3. Explain the Cash Transaction Approach of quantity
theory of money.



(3)

4., Write down the basic differences between classical
model and Kynesian model.

5. Explain the impact of govemment expenditure on IS
curve. '

6. Derive and interpret the balanced budget multiplier.
7. Briefly explain the monetary policy of central bank.
Group - C
Answer any fwo questions. 2x10

8. What is circular flow of income ? Explain three
methods of measurement of national income.  3+7

9. Explain the credit creaﬁon mechanism of commercial
bank.

10. Illustrate the simple Keynesian model of income
determination. What is the stability condition of the
simple Keynesian equilibrium ? - 8+2

11. Explain the causes and impacts of inflation.
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